Divide by Negative Powers of Ten (G)

Find each quotient.

12 +0.1= 41 +0.01 =
47 - 0.001 = 51 +0.001 =
29 +-0.1= 45 +0.01 =
79 - 0.001 = 24 +0.001 =
22 +01= 40 +-0.1=
42 - 0.01 = 34 +-0.1=
17+0.1= 30 +0.001 =
27 +0.001 = 35+ 0.001 =
31+ 0.001 = 76 0.1 =
93 +0.01= 59 - 0.001 =
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Divide by Negative Powers of Ten (G) Answers

Find each quotient.

12 +0.1=120 41 +-0.01 =4,100
47 =+ 0.001 =47,000 51 +0.001 =51,000
29 +-0.1=290 45 +0.01 =4,500
79 =+ 0.001 = 79,000 24+ 0.001 = 24,000
22 +0.1=220 40 - 0.1 =400

42 - 0.01 = 4,200 34 + 0.1 =340
17+0.1=170 30 +0.001 = 30,000
27 +0.001 = 27,000 35+ 0.001 = 35,000
31+ 0.001=31,000 76 - 0.1 =760

93 +-0.01=9,300 59 +-0.001 = 59,000
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